150x50x20%x2.5 CFLC END PURLIN
(ALL PURLINS TO BE DOUBLE SPAN)

B60x60x5 L HORIZONTAL
~ CROSS BRACING FIXED

150x65x20x2.5 CFLC END PURLIN

(ALL PURLINS TO BE DOUBLE SPAN)

60x60x5 L VERTICAL 60x60x5 L HORIZONTAL
CROSS BRACING

CROSS BRACING

125x50x20x2.5 CFLC PURLINS %E%wxmmzumﬂw%ﬁwmo
@_ (ALL PURLINS TO BE DOUBLE SPAN) ”
|||||||||||||| L e — -
I E “ Y E 1" \\\\ﬁ;
- F———9 k=7 == =7 =T 3 T
= |
| | =7 _// 3
S R R SN IR I U E SR = RN TR e A
1_ .— _r e 50x50x3 L PURLIN SAG BARS
I I = — ! | S e WITH 50x50x3 L END CLEATS
L I e I 1__ 1 N e ,M/m_m\\ B (VERT.) TO SUIT WITH 2x M16 BOLTS
| I “ RN G |
| N SR R IS E B o o] T | N S
I I ! I ! 7
| | 4_ | . | |
N - o — — — 1 ‘lllV./ |||||||| \./llllllll,/ 1 — —|+
-7 — e | \\\\\\_ S ~
n n \\ \\ /1 n \\ % /JTI —ﬂu
rd rd :/ rd //”
LTl e |l s M- - = — e
+%| U_ﬂ,I,II| .HII!IIl\I\_%H IIIIIII - !Iﬂuﬁwil
BE O~ I o AR
+T—F—"F——— - ———F - -F-——- IIIIIIWVWQIIIHl
_ _ _ _ S
| | |_— | L + >~
u7 “ N e s |
ooy o P T Ty W\m_x/ [ ) 50x50x3 L PURLIN SAG BARS
I I _ - _ S I N WITH 50x50x3 L END CLEATS
DN ™~ ﬁ (VERT.) TO SUIT WITH 2x M16 BOLTS
_ N B e J____ ||+ 2
[} ///// [} B \\\\\\
- 1|_||||;_||||_|||| _|||=|_||||F_||||_||\| i )
| [l ! 1 ! [l ! | == |
|||||||||||||| e i S . p—— e — -

125x50%x20%x2.5 CFLC END PURLIN
(ALL PURLINS TO BE DOUBLE SPAN)

150x50%20%x2.5 CFLC END PURLIN
(ALL PURLINS TO BE DOUBLE SPAN)

211.855

500 ,

@ 90x65x6 L BOTTOM CHORD
STIFFENER FIXED TO

150x50x20x2.5 CFLC END PURLIN

(ALL PURLINS TO BE DOUBLE SPAN)

BRICKWORK/CONCRETE WITH |
B6mm CLEAT & 2x M16
CHEMICAL ANCHORS FIXED WITH
HILTI HITHY 170

APPARATUS BAY — ROOF LAYOUT

SCALE: 1 : 100

60x60x5 L VERTICAL
CROSS BRACING FIXED
—BETWEEN TRUSSES TOP
TO BOTTOM WITH
2x M16 BOLTS

50x50x3 L PURLIN SAG BARS
WITH 50x50x3 L END CLEATS
(VERT.) TO SUIT WITH 2x M16 BOLTS

N%OO

/]
Yy
SN

N
N

\J

/]

NN

\ M\\\v‘\\
150x50x20%x2.5 CFLC TRIMMER DETAIL
150X130X3mm END PLATE WELDED

90x65x6 L BOTTOM CHORD
DETAIL 4 STIFFENER 14910

STIFFENER

90x65x6 L BOTTOM CHORD

ANNNNRNNY

TO TRUSS END & BOLTED TO STEEL 7
TRIMMER & FASCIA WITH 2X M10 BOLTS.

TYPE T1 TRUSS MEMBERS

BOTTOM CHD: 90x90x8 L

TOP CHD:  80xBOx6 L
DIAGG: 70x70x6 L
UPRIGHTS: ~ 70x70x6 L

SECTION B—B — T1 TRUSS

QTY: &5 Off
SCALE: 1 : 50
3

125x50x20x2.5 CFLC SHEETING RAIL A
FIXED TO UNDERSIDE OF PURLINS z 248
WITH 2x M16 BOLTS

50x50x3 L PURLIN SAG BARS
WITH 50x50x3 L END CLEATS

DETAIL 1 A /, ,\ 400 (VERT.) TO SUIT WITH 2x M16 BOLTS
I S T N {400 AT S~ ‘ 1400
125%x50x20x2.5 CFLC END PURLIN 8810 00 —— | — — 14 8810
(ALL PURLINS TO BE DOUBLE SPAN) \A / —— \ 00
% 7 \\\ |
[ve) [0)]
2~ 7 / 125x58x20x2.5 CFliC SHEETING/RAIL
~ N\ N\ ' A
150x50x20x2.5 CFLC END PURLIN 162 4400 —7 i N ,
(ALL PURLINS TO BE DOUBLE SPAN) ™ — 7
e FIX N FIX ,
211855 | 3 L | S - | 5
Q R = /_ [Ye) AN AN /.
150x50x20x2.5 CFLC TRIMMER — |
DETAIL 4 90x65x6 L BOTTOM CHORD 0x65x6 L BOTTOM CHORD
150X130X3mm END PLATE WELDED STIFFENER STIFFENER
TO TRUSS END & BOLTED TO STEEL )
TRIMMER & FASCIA WITH 2X M10 BOLTS. ,
TYPE T1 TRUSS MEMBERS
BOTTOM CHD: 90x90x8 L
} 280 TOP CHD: 80x80x6 L
, 7 DIAGG: 70x70x6 L
40, 50, 100, 50 40, UPRIGHTS: 70x70x6 L
B e osomm L CLEAT . SECTION C—-C - T2 TRUSS
x75x8x280mm .
WITH 4x 18mm HOLES, A © QTY: 1 Off
WELDED TO I-BEAM o :
(o))
T9]
[Ce]
|
— 7
DETAIL 1 DETAIL 1 ELEVATION
SCALE: 1 : 5 SCALE: 1

WASH BAY -—

254x146x37Kg/m | BEAM COLUMN—=

211.855 mﬂ -

SECTION D-D

SCALE: 1

ROOF LAYOUT

100

150x65%x20x2.5 CFLC PURLINS
(ALL PURLINS TO BE DOUBLE SPAN)

6427

At = X
N\
AN\ 7///////////////////

",lllll
N —_————— i
—_—

/V“A\ “ 50x50x3 L PURLIN SAG BARS
= 7= < WITH 50x50x3 L END CLEATS
\\\ " T~ (VERT.) TO SUIT WITH 2x M16 BOLTS
~
T >4 -
~ _-
. _ s

50x50x3 L PURLIN SAG BARS
WITH 50x50x3 L END CLEATS
(VERT.) TO SUIT WITH 2x M16 BOLTS

S

SECTION E-E

SCALE: 1 : 50

200 |-BEAM RAFTER

T ———— -
—— e
-

(©) COPYRIGHT

OF KANTEY & TEMPLER.

THIS DRAWING AND DESIGN ARE CONFIDENTIAL AND THE
PROPERTY OF KANTEY & TEMPLER AND MAY NOT BE

DISCLOSED TO A THIRD PARTY, COPIED/REPRODUCED IN
WHOLE OR IN PART, WITHOUT THE WRITTEN PERMISSION

STRUCTURAL STEEL NOTES:

1. SHOP DETAILING, FABRICATION AND ERECTION SHALL BE IN
ACCORDANCE WITH THE REQUIREMENTS OF SABS

0162-1984.

2. ALL STEEL SHALL BE MILD STEEL TO SABS 1431 GRADE

SS50WA.

3. ALTERNATIVE SECTIONS MAY BE ACCEPTED, TO SUIT
AVAILABLE SUPPLIES, PROVIDED THERE IS NO LOSS OF
STRENGTH OR STIFFNESS OR, WHERE RELEVANT,
APPEARANCE. HOWEVER, PRIOR CONCESSION MUST BE

OBTAINED FROM THE ENGINEER.

4. ALL BOLTS TO BE GRADE 8.8 AND M16 MINIMUM SIZE,
UNLESS STATED OTHERWISE. WHERE MAIN FRAME JOINTS
ARE BOLTED, SHOP DETAILING OF MEMBERS SHALL MAKE
PROVISION FOR SLIP AT SUCH JOINTS, TO PRESERVE
INTENDED ALIGNMENT. BOLTED JOINTS SHALL BE DESIGNED
TO TRANSMIT THE SHEAR FORCES AND MOMENTS
INDICATED ON THE DRAWING. ALL BOLTS & NUTS TO BE

HOT DIPPED GALVANISED.

5. ALL WELDS TO BE 7mm FILLET CONTINUOUS UNLESS
OTHERWISE NOTED. WELDING SHALL BE DONE BY
QUALIFIED WELDERS TO THE SATISFACTION OF THE
ENGINEER. SITE WELDING SHALL NOT BE DONE WITHOUT
THE PRIOR APPROVAL OF THE ENGINEER. WELDED METAL
SHALL PENETRATE INTO THE ROOT OF THE JOINTS AND
SHALL BE FUSED WITH THE PARENT METAL ALONG
SURFACES AND EDGES OF UNION. THE SURFACE OF
WELDS SHALL BE CLEANED, SMOOTHLY FINISHED, WITHOUT
POROSITY OR CRATERS, REGULAR AND OF UNIFORM

CONTOUR.

6. ALL DIMENSIONS AND LEVELS TO BE VERIFIED ON SITE

PRIOR TO FABRICATION.

7. ALL BOLTS, NUTS & WASHERS TO BE HOT DIPPED

GALVANISED TYPE AND SPECIFICATION.

CORROSION PROTECTION

STRUCTURAL STEEL

1. SURFACE PREPARATION

1.1 ABRASIVE BLAST CLEAN TO SWEDISH STANDARD —

SIS 0550900 OF 1967 TO SA 2.5
1.2 BLAST PROFILE 40-75 MICRONS.

300x280x16mm BASEPLATE

TO SUIT M20 BOLT

WITH 2x 822x30mm SLOTTED Io_umw/
L 300 .

125x50x20x2.5 CFLC SHEETING
RAIL FIXED TO TRUSS UPRIGHT
WITH 70x70x8 ANGLE CLEAT
& 2x M16 BOLTS

212.045

N

BHP COLORBOND DRIP FLASHING
& SHEETING CLOSER FITTED

AS PER MANUFACTURER’S
SPECIFICATIONS

550x160x12mm END PLATE
WELDED TO COLUMN & BOLTED
TO RAFTER WITH 6x M16 BOLTS

+ (WELD SIZE TO BE 10mm FILLET
#1100 , 100, WELD ALLROUND)

o b

> o

DETAIL 3 — PLAN

: 10 550x160x12mm END PLATE
WELDED TO COLUMN & BOLTED

N

N

n

<
N

280
170

55

/\4 A i

|

2. GALVANISING

HOT DIPPED GALVANISING IN ACCORDANCE WITH
SABS 763 TO A MINIMUM THICKNESS OF 650 G/M.

16mm BASEPLATE
WELDED TO TRUSS

20mm 30MPa
NON—SHRINK GROUT

SECTION F-F

90x90x8 L

j 150 ) 150 ; A ISSUE FOR TENDER 30—03—-22] NA
No DESCRIPTION DATE APP
INITIALS DATE
DESIGNED TH 30—Mar—22
~ | DRAWN T.H 30—Mar—22
PROJECT ENG. C.G.A 30-Mar—22
APPROVED C.G.A 30-Mar—22

D
&

KANTEY & TEMPLER

CONSULTING ENGINEERS

P O BOX 458 GEORGE SOUTH AFRICA 6530 TEL +27 44 874 2177

TO RAFTER WITH 6x M16 BOLTS v

(WELD SIZE TO BE 10mm FILLET
WELD ALLROUND)

HAUNCH CUT FROM
COLUMN SECTION

DETAIL 3

SCALE: 1 : 10

20mm U—BOLT CAST

INTO CONCRETE

10mm STIFFENERS WELDED
IN ON BOTH SIDES

Q

N
J \L
7 = o
A g m
g o
\Z <7
\ v A y g
£
J g \Z v
<J
v J
&h \Z <
¢ W
N
el 4 @ \Z v
Q A\.A
va v g
g “ v
Q =
A < <
J
\L 7 Ag _
\ “ y A N
<7 g L \Z A
g
J
g
1« \z g
A 2 ’
SCALE: 1 : 5

CLIENT

DISTRICT MUNICIPALITY /

PROJECT

NEW FIRE STATION FOR
GARDENROUTE DISTRICT
MUNICIPALITY

ERF 22494/22495
GEORGE

TITLE

ROOF STRUCTURAL
LAYOUTS, SECTIONS
& DETAILS

PRUNe- G5211BA—SE—-004

A

2:\g5211—grdm fire station\dwg\tender\g5211ba—se—001 reva




